Test Cases – HW3






          Jonathan Spiker

Since the driver will not be included in this submission, I wrote the expected value of Location instead of the expected output called for by the assignment.

1. Input: List = () Value = 5

Expected Value of Location: 0

2. Input: List = (3) Value = 3

Expected Value of Location: 1

3. Input: List = (3) Value = 5

Expected Value of Location: 0

4. Input: List = (2, 4, 6, 8, 10) Value = 2

Expected Value of Location: 1

5. Input: List = (2, 4, 6, 8, 10) Value = 6

Expected Value of Location: 3

6. Input: List = (2, 4, 6, 8, 10) Value = 7

Expected Value of Location: 0

7. Input: List = (2, 4, 6, 8, 10) Value = 10

Expected Value of Location: 5
8. Input: List = (2, 4, 6, 8, 10) Value = 1

Expected Value of Location: 0

9. Input: List = (2, 4, 6, 8, 10) Value = 20

Expected Value of Location: 0

